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) ROUND TO THE NEAREST TENTH UNLESS OTHERWISE SPECIFIED.

Part 1. Find the 1nformat10n listed for each tnangle _
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“Part 2. ABC Trlangles Find the missing values of the tr:angles if possible. Give angles measures in DMS. -
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Part 3. Use your calculator to determine the values of each. Round to.the nearest thousandth.
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, Part 4. Apphcations of Soivmg Trlangles”

. a. At a certain time gfday,.the ang]P nfelevation of the sun is 49°5319”, Find the length of the shadow of a tree that is 28 feet tali.
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b. A plane is coming TR 16 1and at an airport. hs angle of descent is 5°38°15”. If the altitude of the p]ane is 30,000 ft., find the

horizontal distanﬁaédmmgmﬂ%g.ﬂ&guiund) to the alrport
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c.- A tower is 150 feettall. Its shadow caused by the sunis: 42 feet tong.. Find the angle of depression from the sun to the tlp
of the tower’s shadow. Give yvour answ DMS.
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~ d. The angle of elevafion of the top of a mountam peak s observed from Stanley on the level plain below is 53°27°42”, From the

point at which Oscar is standin

i1 400 feot ebewambo the mountain, the angle of elevation is 29°15°56.
+ Find the height of the peak. :
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e. Two planes take off at the same Tiim port. One is travelmg 810 km per hour on a bearing of N 15°10°8” W
The other is traveling as 925 ki, per.h ing of & 82°55'42” W. How far apart are the planes after 2 hours?
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Part 5: Degrees and Radlans ‘

‘CHan'ge, the' followxrfg radians to degrees
m

Change the following degrees to radlans
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Part 6. Co-termmal Angles — Find the p051twe and negatlve co-termmal angles for each.
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Part7: Please give: ‘a. The reference angle in questioii;'b;;’the quadrant for the angle in question ¢. The frig value
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Part 7: Trig Identities

1. Sum/Difference and Double/Half- Angle Identltles e

a. TDwvaluate sin 15°
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b. BEwaluate cos 5

¢.  Evaluate cos 20° cos 25° - sin 20° sin 25°«
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3. Simplifying exptessions
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4. Proving Trig Identities
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